

Republic of the Philippines PROVINCE OF ISABELA City of Ilagan

OFFICE OF THE BIDS AND AWARDS COMMITTEE NOTICE OF AWARD

May 25, 2022

MS. IRISH JANE T. CRISTOBAL
Proprietor
ISAIAH 8:15 ENTERPRISES
District II, Cauayan City, Isabela

Dear Ms. Cristobal,

We are happy to notify you that the Supply and Delivery of Various General Merchandise for the Province of Isabela in the amount of PhP5,182,955.93 is hereby awarded to you as the Bidder with the Lowest Calculated Responsive Bid.

NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP
1	20	kilograms	10's Cotton Sewing Thread Sinulid per Kilo tkt.120	₱198.00	₱3,960.00
2	5	pieces	155L Storage box	₱1,452.00	₱7,260.00
3	25	gallons	2.8 LITERS FABRIC CONDITIONER	₱594.00	₱14,850.00
4	2	units	20FTX30FT TOLDA LONA TRAPAL COVER	₱1,980.00	₱3,960.00
5	6	units	3 LAYERS UTILITY CABINET	₱709.50	₱4,257.00
6	1	pieces	5 Layer Stainless Steel Glass Display Cabinet	₱15,180.00	₱15,180.00
7	2	pieces	A4 3G Jet Opaque Dark transfer paper	₱26.00	₱52.00
8	20	pieces	A4 light transper paper	₱26.00	₱520.00
9	10	pieces	A4 Screen Printing Transparency Inkjet Film paper exposure	₱7.00	₱70.00
10	5	gallons	Alcohol	₱594.00	₱2,970.00
11	4	gallons	Alcohol	₱1,020.00	₱4,080.00
12	6	pieces	Alcohol 70% Solution 1L	₱300.00	₱1,800.00
13	5	bales	alfa gina cloth assorted color	₱60.00	₱300.00
14	162	pieces	Apron	₱94.44	₱15,299.28
15	112	pieces	Apron	₱94.44	₱10,577.28
16	3	sets	APRON 150, MASK 120, HAIRNET 60	₱495.00	₱1,485.00
17	30	pieces	Artificial Flowers (vines / bouquets)	₱158.00	₱4,740.00
18	25	pieces	Artificial Leaves	₱38.00	₱950.00
19	5	pieces	ASSORTED TELA FOR KURTINA	₱375.00	₱1,875.00
20	15	pieces	ASSORTED THREADS JUKI	₱375.00	₱5,625.00
21	1	boxes	Baby pin	₱51.00	₱51.00
22	10	pieces	Bag Closer White Thread 6 ply 1000 m.	₱158.00	₱1,580.00
23	18	boxes	Ballpen	₱375.00	₱6,750.00
24	7	boxes	Ballpen	₱375.00	₱2,625.00
25	15	pieces	Bamboo Pole	₱330.00	₱4,950.00
26	10	packs	Bamboo Skewer/ Barbeque Stick (by 100s)	₱60.00	₱600.00
27	22	pieces	Banyera	₱383.00	₱8,426.00
28	48	pieces	Basin	₱660.00	₱31,680.00

Dana 1 of 10

20			Pagin (cmall)	₱158.00	₱948.00
29	6	pieces	Basin (small) Basin (stainless, big)	₱383.00	₱1,915.00
30	5	pieces	Basin 27 Camel RJK	₱647.00	₱3,882.00
31	6	pieces	Basin small,medium,large	₱1,307.00	₱2,614.00
32	2	sets		₱660.00	₱2,640.00
33	4	pieces	Basin Stainless (L)	₱383.00	₱2,681.00
34	7	pieces	Basin, big, stainless	₱99.00	₱495.00
35	5	pieces	Basket	₱300.00	₱7,200.00
36	24	pieces	Bath Towel		₱3,750.00
37	10	pieces	Bed sheet single	₱375.00	₱540.00
38	3	pieces	Bell (For Ice Cream Selling)	₱180.00	
39	2	units	Bicycle with Cart	₱15,000.00	₱30,000.00
40	3 ·	dozens	Big Hanger for clothes, Strong and Thick Material durable 100% pure plastic	₽ 420,00	₱1,260.00
41	4	units	Big Umbrella	₱1,161.00	₱4,644.00
42	2	pieces	Big Vat	₱19,800.00	₱39,600.00
43	155	pieces	Bilao large	₱78.00	₱12,090.00
44	1	pieces	Binder	₱300.00	₱300.00
45	6	rolls	Black Canvass	₱7,920.00	₽ 47,520.00
46	65	pieces	Black T-Shrit Large	₱ 158.00	₱10,270.00
47	45	pieces	Black T-Shrit Medium	₱158.00	₱7,110.00
48	40	pieces	Black T-Shrit Small	₱ 158.00	₱6,320.00
49	1	rolls	Blank canvass	₱ 7,920.00	₱7,920.00
50	1	bales	Blue (SMALL, medium, large)	₱1,584.00	₱1,584.00
51	15	pieces	Bond Paper Long	₱257.00	₱3,855.00
52	4	pairs	Boots	₱383.00	₱1,532.00
53	5	pieces	Boots size 7" – 4 pcs, 8" – 2 pcs., 9" – 4 pcs.	₱383.00	₱1,915.00
54	900	pieces	Bottles	₱38.00	₱34,200.00
55	223	pieces	Boxes	₱26.00	₱5,798.00
56	5	pieces	Brining Container	₱330.00	₱1,650.00
57	2	pieces	CABINET DISPLAY	₱3,828.00	₱7,656.00
58	1	units	Cabinet storage	₱15,180.00	₱15,180.00
59	1	sets	Cabinets for stacking ready to sell smoked- fish	₱5,940.00	₱ 5,940.00
60	50	pieces	Cake box 10x10x3"	₱251.00	₱12,550.00
61	50	pieces	Cake box 6x9x1.5"	₱198.00	₱9,900.00
62	50	pieces	Cake box 6x9x3"	₱198.00	₱9,900.00
63	4	pieces	Calculator	₱462.00	₱1,848.00
64	50	pieces	Calculator	₱1,050.00	₱52,500.00
65	6	units	Calculator	₱1,050.00	₱6,300.00
	1				
66		pieces	Calculator (big)	₱792.00	₱792.00
67	3	yards	Calvin wool	₱90.00	₱270.00
68	1	sets	CANDLE HOLDER	₱3,300.00	₱3,300.00
69	3	pieces	Cap Tightening	₱4,620.00	₱13,860.00
70	1	pieces	CASH REGISTER	₱5,544.00	₱5,544.00
71	1	pieces	Cashier's Table	₱3,300.00	₱3,300.00
72	1	pieces	Cashier's Table and Chairs	₱4,620.00	₱4,620.00
73	1	units	Cellphone	₱5,940.00	₱5,940.00
74	1	units	Cellphone	₱3,000.00	₱3,000.00
75	50	pieces	Chair	₱554.00	₱27,700.00
76	261	pieces	Chairs	₱554.00	₱144,594.00
77	9	pieces	Chairs	₱1,108.80	₱9,979.20
78	4	rolls	chicken net 1"	₱5,808.00	₱23,232.00
79	3	rolls	chicken polly net	₱6,600.00	₱19,800.00

80	5	pieces	Classic ink black 1kg	₱91.00	₱455.00
81	5	pieces	Classic ink blue 1kg	₱91.00	₱455.00
82	5	pieces	Classic ink green 1kg	₱91.00	₱455.00
83	5	pieces	Classic ink green 1kg	₱91.00	₱455.00
84	5		Classic ink white 1kg	₱91.00	₱455.00
		pieces pieces	Classic ink write 1kg	₱91.00	₱455.00
85	5 15		cleaner wrap	₱66.00	₱990.00
86		pieces rolls	CLEAR TRASH BAG LARGE	₱112.00	₱4,480.00
87	40	rolls	CLEAR TRASH BAG MEDIUM	₱99.00	₱3,960.00
88	40	rolls	CLEAR TRASH BAG SMALL	₱86.00	₱3,440.00
89	40	rolls	CLEAR TRASH BAG XLARGE	₱132.00	₱5,280.00
90				₱1,043.00	₱20,860.00
91	20	pieces	Cling Wrap Cloth Napkins	₱66.00	₱3,300.00
92	50	pieces		₱100.00	₱1,500.00
93	15	bundles	Cogon	₱132.00	₱3,960.00
94	30	packs	Coloring		₱2,508.00
95	11	pieces	Computer Chair	₱2,508.00 ₱396.00	₱19,800.00
96	50	pieces	Containers (20 Liters)		₱330.00
97	2	pieces	Continuous Zipper 10m different colors	₱165.00	
98	1	pieces	Cooler 15 L capacity	₱825.00	₱825.00
99	2	pieces	Cooler 40kg capacity	₱9,900.00	₱19,800.00 ₱738.00
100	28	packs	Cotton (big)	₱26.00	₱728.00
101	50	pieces	Cotton (small)	₱10.00	₱500.00
102	500	yadrs	Cotton Fabric	₱51.00	₱25,500.00
103	50	pieces	Cotton Shirt with print (Assorted colors, designs and sizes)	₱158.00	₱7,900.00
104	1	pieces	Covered Processing area 55 meters x 6 meters	₱66,000.00	₱66,000.00
105	45	pieces	CRATE BASKET	₱198.00	₱8,910.00
106	50	pieces	Crates	₱462.00	₱23,100.00
107	3	yards	Crepe scuba	₱90.00	₱270.00
108	2	packs	CSP Anti Mold Agent 1kg	₱343.20	₱686.40
109	2	units	Customized Big Jar	₱18,480.00	₱36,960.00
110	100	pieces	Customized Coffee Mugs	₱198.00	₱19,800.00
111	100	pieces	Customized Key Chain	₱79.00	₱7,900.00
112	1	units	Customized Pugon	₱6,600.00	₱6,600.00
113	100	pieces	Customized Tumbler	₱330.00	₱33,000.00
114	9	pieces	Cutting Table (4x8)	₱3,828.00	₱34,452.00
115	12	pieces	Deboning scissors	₱198.00	₱2,376.00
116	35	boxes	Denatured alcohol	₱32.00	₱1,120.00
117	2	pieces	Denim Fabric different colors	₱375.00	₱750.00
118	10	pieces	Dipper (tabo)	₱38.00	₱380.00
119	42	units	Display Cabinet	₱3,828.00	₱160,776.00
120	3	sets	DISPLAY CABINET (GLASS)	₱1,667.50	₱5,002.50
121	2	pieces	Display Rack (stante)	₱3,303.96	₱6,607.92
122	29	units	Display Rack (Staffte)	₱8,580.00	₱248,820.00
123	8	packs	disposable plastic caps 10 oz.	₱34.50	₱276.00
124	8	packs	disposable plastic caps 10 oz.	₱49.50	₱396.00
125	8	packs	disposable plastic caps 12 02.	₱27.00	₱216.00
126	10	packs	Disposable Plastic cups clear 12oz (by 50s)	₱67.50	₱216.00
127	10	packs	Disposable Plastic cups clear 8oz (by 50s)	₱54.00	₱540.00
128	22	box			
			Disposable Plastic Gloves (50pairs)	₱37.50	₱825.00
129	3	packs	Disposable plastic hand gloves 100pcs	₱60.00	₱180.00

130	25	pieces	Double pocket splashproof apron	₱270.00	₱6,750.00
131	1	bales	DRESS (ukay)	₱7,500.00	₱7,500.00
132	70	packs	Dringking Staw	₱22.50	₱1,575.00
133	1	pieces	Durabox	₱990.00	₱990.00
134	300	pieces	Eco bag large	₱33.00	₱9,900.00
135	300	pieces	Eco bag medium	₱20.00	₱6,000.00
136	300	pieces	Eco bag small	₱13.00	₱3,900.00
137	4	pieces	Eco-solvent CMYK ink for DX11 (CYAN, MAGENTA, YELLOW, BLACK)	₱858.00	₱3,432.00
138	5	pieces	Embudo	₱142.15	₱710.75
139	10	pieces	Empty gallon 20 L	₱251.00	₱2,510.00
140	2	pieces	ERATOR	₱1,320.00	₱2,640.00
141	1	pieces	Eyelet	₱660.00	₱660.00
142	1	pieces	Eyelet puncher	₱3,300.00	₱3,300.00
143	5	liters	Fabric paint - Black	₱647.00	₱3,235.00
144	5	liters	Fabric paint - White	₱647.00	₱3,235.00
145	2	units	fabricated framed Tents with wires	₱1,584.00	₱3,168.00
146	1	pieces	Fabricated Smoking House, Medium Size, 10 trays cap.	₱33,000.00	₱33,000.00
147	1	pieces	Fabricated Wood Fired Stove	₱16,500.00	₱16,500.00
148	38	box	Face Mask	₱120.00	₱4,560.00
149	3	boxes	Face mask (surgical)	₱80.00	₱240.00
150	5	pieces	Facemask	₱41.20	₱206.00
151	1	units	Filling Cabinet	₱12,540.00	₱12,540.00
152	10	pieces	Fixer UR 100g	₱594.00	₱5,940.00
153	550	yadrs	Flannel Cloth	₱52.00	₱28,600.00
154	10	pieces	FLASHLIGHT	₱462.00	₱4,620.00
155	50	rolls	Foil	₱33.00	₱1,650.00
156	20	rolls	Foil wrappers 200m	₱528.00	₱10,560.00
157	30	rolls	Foils	₱33.00	₱990.00
158	17	pieces	Foldable Table (Rectangle)	₱4,224.00	₱71,808.00
159	3	pieces	Foldable Table (Round)	₱3,960.00	₱11,880.00
160	5	pieces	Foldable Table, 4ft Black Portable, Rectangular Table 120cm*61cm*74cm	₱1,584.00	₱7,920.00
161	3	pieces	Food container (Big)	₱132.00	₱396.00
162	3	pieces	Food container (Small)	₱106.00	₱318.00
163	2	units	Food Display counter (istante), aluminum, glass	₽ 4,499.50	₱8,999.00
164	6	pieces	Food Storage Box plasctic	₱264.00	₱1,584.00
165	12	sets	Foot Spa Complete Set * 6-in-1 * Foot Care * Foot Spa * Foot File * Callus Remover	₱555.00	₱ 6,660.00
166	1	units	Footspa machine	₱15,516.00	₱15,516.00
167	5	pieces	Footspa treatment lotion	₱450.00	₱2,250.00
168	20	pieces	FORCEP	₱198.00	₱3,960.00
.69	9	packs	Garbage bag	₱112.00	₱1,008.00
70	1	rolls	Garter white 1" 36yards/ roll	₱510.00	₱510.00
.71	1	rolls	Garter white 1/2" 36yards/ roll	₱343.50	₱343.50
.72	1	rolls	Geena cloth 1 roll (120 yards)	₱5,250.00	₱5,250.00
.73	80	yadrs	GEENA CLOTH WHITE	₱65.00	₱5,200.00
.74	2	units	Glass Cabinet	₱ 2,460.00	₱4,920.00
.75	3	pieces	Glass Digital Thermometer	₱594.00	₱1,782.00
.76	1	pieces	Glass Display	₱6,000.G0	₱6,000.00
.77	5	dozens	Gloves	₱50.00	₱250.00
.78	15	boxes	Gloves	₱647.00	₱9,705.00
.79	20	packs	Gloves	₱86.00	₱1,720.00

Dana A of 10

180	4	pieces	Gloves (pairs)	₱65.00	₱260.00
181	5	pieces	Gloves (plastic)	₱13.00	₱65.00
182	50	sets	GOLD LEAF	₱198.00	₱9,900.00
183	1	pieces	graph King GK18 (6ft)DX 11 Eco solvent large format tarpauline printing machine	₱195,000.00	₱195,000.00
184	50	sets	GREEN LEAF	₱198.00	₱9,900.00
185	1	pieces	Hair blower	₱1,056.00	₱1,056.00
	323	boxes	Hair net	₱41.20	₱13,307.60
186		pieces	Hair Net	₱41.20	₱5,850.40
187	142	bales	HALF SACK TOY SPOON	₱750.00	₱2,250.00
188 189	3 20	dozens	Hand & Foot Towel (1 doz per Pack)	₱232.50	₱4,650.00
	****************		handicraft (bag)	₱33.00	₱1,650.00
190	50	pieces	handicraft (basket)	₱46.00	₱2,300.00
191	50	pieces			₱3,300.00
192	50	pieces	handicraft (Vase/pot) Heat pad silicone rubber mat for 15x15 heat	₱66.00 ₱660.00	₱660.00
193	1	pieces	press machine		
194	2	pieces	Heat Press teflon sheet	₱462.00	₱924.00
195	9	pieces	Heavy duty plastic container 60L with cover	₱1,320.00	₱11,880.00
196	3	pieces	Heavy duty Stapler with remover#35	₱158.00	₱474.00
197	10	units	Ice box (45 L)	₱1,980.00	₱19,800.00
198	5	pieces	Ice Box 30 Liters capacity	₱1,275.00	₱6,375.00
199	1	pieces	ICE COOLER BOX	₱15,000.00	₱15,000.00
200	1	pieces	ICE CREAM SCOOP(LUCKY MELODY ORIGINAL BRAND)	₱ 2,400.00	₱2,400.00
201	10	pairs	Isolated boots #7,8,9	₱383.00	₱3,830.00
202	5	pairs	Isolated Boots (#7,8,9)	₱383.00	₱1,915.00
203	1	pieces	istante	₱9,240.00	₱9,240.00
204	1	pieces	KRITONA TELA (1ROLL)-BLUE	₱6,460.00	₱6,460.00
205	2	pieces	Labeler	₱330.00	₱660.00
206	800	pieces	Labels	₱20.00	₱16,000.00
207	50	bundes	Large Nito	₱66.00	₱3,300.00
208	15	pieces	LAUNDRY BASKET	₱200.00	₱3,000.00
209	1		Load (Digital Load) for Eload	₱8,000.00	₱8,000.00
210	1	pieces	Load Card	₱145.00	₱145.00
211	1	bales	LONG PANTS (ukay)	₱7,500.00	₱7,500.00
212	5	cavans	long pin	₱20.00	₱100.00
213	1	pieces	LONG TABEL	₱4,620.00	₱4,620.00
214	25	packs	MACHINE DETERGENT POWDER 2 KG	₱250.00	₱6,250.00
215	8	sacks	Malagkit (Bungkitan)	₱5,016.00	₱40,128.00
216	2	rolls	Marine Lobstering Net	₱13,200.00	₱40,128.00 ₱26,400.00
217	 5	boxes	mask	₱60.00	₱300.00
218	50	bundes	Medium Nito	₱40.00	
219	1	bales	MEN TEES (ukay)	₱6,750.00	₱2,000.00 ₱6,750.00
220	2	sets	METAL WORKING TABLE	Property and the second	₱6,750.00 ₱17,160.00
221	3	pieces	Molders Design 1 - S,M,L	₱8,580.00	₱17,160.00
222	3	pieces	Molders Design 1 - 5,M,L Molders Design 2 - S,M,L	₱33.00	₱99.00
23	3	pieces	Molders Design 2 - S,M,L Molders Design 3 - S,M.L	₱46.00	₱138.00
224	3	pieces	Molders Design 4 - S,M.L	₱60.00	₱180.00
225	314	pieces	Monoblock Chair	₱73.00	₱219.00
226	6		Monoblock chair	₱495.00	₱155,430.00
227		pieces		₱495.00	₱2,970.00
	50	pieces	Monoblock chairs (various colors)	₱554.00	₱27,700.00
228	15	pieces	Multi Purpose Large Tong	₱330.00	₽ 4,950.00
229	3	pieces	Nail Cutter	₱60.00	₱180.00
230	25	sets	Needle	₱65.00	₱1,625.00

231	7	sets	Needles	₱13.00	₱91.00
232	100	rolls	Non-woven Fabric	₱ 3,960.00	₱396,000.00
233	3	kilograms	Nylon (#120)	₱198.00	₱ 594.00
234	2	pieces	Nylon Edging Thread Assorted Color 20000m	₱150.00	₱300.00
235	2	pieces	Nylon Edging Thread White big	₱225.00	₱450.00
36	500	yadrs	Nylon Fabric	₱73.00	₱36,500.00
237	10	rolls	Nylon rope 5mm	₱1,200.00	₱12,000.00
238	1	dozens	Nylon Zipper different colors	₱165.00	₱165.00
239	1	units	Office Chair Adjustable Height 360 Rotat Mesh Comfortable and Breathable Home	₱3,750.00	₱3,750.00
240	5	pieces	Office Chairs (10 pcs @ 350.00)	₱3,960.00	₱19,800.00
241	50	packs	PACKING TAPES	₱66.00	₱3,300.00
242	14	pieces	Pail	₱78.00	₱1,092.00
243	5	pieces	Pail (big)	₱198.00	₱990.00
244	2	pieces	Pail (medium size)	₱99.00	₱198.00
245	5	pieces	Pail with cover 10L	₱200.00	₱1,000.00
246	60	pieces	Pale	₱91.00	₱5,460.00
247	500	pieces	Paper trays	₱6.60	₱3,300.00
248	1	pieces	Party tent	₱1,980.00	₱1,980.00
249	3	pieces	PEN	₱13.00	₱39.00
250	1	boxes	Pentel pen (black, fine)	₱65.00	₱65.00
251	2	pieces	Photo emulsion 1kg	₱594.00	₱1,188.00
252	4	pieces	Pigment Ink (CYAN,MAGENTA, YELLOW AND BLACK)	₱350.00	₱1,400.00
253	5	pieces	Pillow	₱225.00	₱1,125.00
254	2	pieces	Pillow 20"x26"	₱225.00	₱450.00
255	2	pieces	Pillow Case 20"x26"	₱225.00	₱450.00
256	5	boxes	PIN	₱396.00	₱1,980.00
257	40	sets	Pins and pin cushion set	₱26.00	₱1,040.00
258	10	packs	Plastic 6x10	₱132.00	₱1,320.00
259	10	packs	Plastic 6x12	₱3.00	₱30.00
260	10	packs	Plastic 6x8	₱1.50	₱15.00
261	60	packs	Plastic Bag	₱60.00	₱3,600.00
262	600	pieces	Plastic Bag	₱1.50	₱900.00
263	1,151	packs	Plastic Bag - Large	₱118.91	₱136,865.41
264	1,278	packs	Plastic Bag - Medium	₱74.32	₱94,980.96
265	338	packs	Plastic Bag - Small	₱45.45	₱15,362.10
266	50	pieces	Plastic Bag (Thick)	₱185.00	₱9,250.00
267	500	pieces	Plastic Bag, 5kg	₱13.20	₱6,600.00
268	500	pieces	Plastic Bag, 8kg	₱26.40	₱13,200.00
269	8	packs	Plastic Bag, Extra Large x5	₱118.91	₱15,200.00 ₱951.28
270	440	packs	Plastic Bag, Large	₱118.91	₱52,320.40
271	8	packs	Plastic Bag, Large x5	₱83.65	₱669.20
272	400	packs	Plastic bag, Medium	₱74.32	₱29,728.00
273	8	packs	Plastic Bag, Medium x5	₱62.32	₱498.56
74	1		Plastic Bag, Small	₱45.45	₱45.45
75	8		Plastic Bag, Small x5	₱45.45	₱363.60
76	10		PLASTIC BAGS (LARGE)		
	10		PLASTIC BAGS (MEDIUM)	₱145.00	₱1,450.00
			PLASTIC BAGS (MEDIOM) PLASTIC BAGS (SMALL)	₱99.00	₱990.00
277	10	nacks			
277 278	10			₱46.00	₱460.00
277 278 279 280	10 20 3	rolls	Plastic cling wrapper Plastic Container	₱501.60 ₱990.00	₱10,032.00 ₱2,970.00

282	10	yadrs	PLASTIC COVER	₱198.00	₱1,980.00
283	1	pieces	Plastic cover plain	₱112.00	₱112.00
284	20	bales	Plastic Cup	₱181.58	₱3,631.60
285	5	packs	Plastic Cups, 10 oz	₱34.50	₱172.50
286	3	packs	Plastic Cups, 16 oz.	₱52.50	₱157.50
287	5	packs	Plastic Cups, 5 oz	₱22.50	₱112.50
288	5	packs	Plastic Cups, 7 oz	₱27.00	₱135.00
289	3	packs	Plastic Cups, 8 oz.	₱27.00	₱81.00
290	10	packs	Plastic disposable fork (by 25s)	₱24.00	₱240.00
291	10	packs	Plastic disposable spoon (by 25s)	₱25.50	₱255.00
292	15	pieces	Plastic Drum 100 Liters	₱1,320.00	₱19,800.00
293	20	pieces	Plastic Drum 210 Liters	₱2,640.00	₱52,800.00
294	2	rolls	PLASTIC ROPE	₱383.00	₱766.00
295	13	pieces	Plastic Round container (big)	₱2,640.00	₱34,320.00
295 296	11	 	Plastic Round container (big)	₱1,584.00	₱17,424.00
290 297	25	pieces	plastic santo bag (large)	₱60.00	₱1,500.00
297 298	25	packs	Plastic Sealer Polyethylene	₱1,130.00	₱2,260.00
	ļ	pieces		₱450.00	₱5,400.00
299 300	12	bales rolls	Plastic spoon and fork Plastic Straw	₱450.00 ₱300.00	₱600.00
300 301	10		PLASTIC STRAW TWINE	₱300.00 ₱60.00	₱600.00
		pieces			
302	10	rolls	Plastic String	₱238.00	₱2,380.00
303	2	pieces	Plastic thick	₱13.00	₱26.00
304	500	pieces	Plastic Trays	₱15.84	₱7,920.00
305	1	pieces	Point of Sale(POS) Machine	₱15,840.00	₱15,840.00
306	1	bales	POLO SHIRT, T-SHIRT (ukay)	₱7,500.00	₱7,500.00
307	2	pieces	Polyester Sewing Thread Colored 3000m	₱120.00	₱240.00
308	2	pieces	Polyester Sewing Thread White 3000m	₱120.00	₱240.00
309	1	pieces	Portable digital blood pressure meter with adaptor	₱4,200.00	₽ 4,200.00
310	2	pieces	PPE - gloves (pairs)	₱65.00	₱130.00
311	3	pieces	Printing table	₱3 <i>,</i> 300.00	₱9,900.00
312	1	units	Projector with screen pull down	₱40,367.00	₱40,367.00
313	50	bundes	Ratan	₱198.00	₱9,900.00
314	66	pieces	Record Book	₱78.00	₱5,148.00
315	9	pieces	Record Book (500 leaves)	₱132.00	₱1,188.00
316	100	pieces	Ref Magnet	₱52.00	₱5,200.00
317	2	pieces	Retractable Tent Complete Set	₱5,542.68	₱11,085.36
318	3	dozens	Reusable Plastic cups 8oz (by 12s)	₱150.00	₱450.00
19	3	dozens	Reusable Plastic round plates 9" (by 12s)	₱540.00	₱1,620.00
1					
	5	pieces	Rice Box Containers		
20	5 5	pieces boxes	Rice Box Containers Rice Flour	₱990.00	₱4,950.00
320 321				₱990.00 ₱924.00	₱4,950.00 ₱4,620.00
320 321 322	5	boxes	Rice Flour	₱990.00 ₱924.00 ₱33.00	₱4,950.00 ₱4,620.00 ₱561.00
320 321 322 323	5 17	boxes units	Rice Flour Rice Scoop (Saki) Roll bag	₱990.00 ₱924.00 ₱33.00 ₱93.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00
320 321 322 323 324	5 17 10	boxes units packs	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24)	₱990.00 ₱924.00 ₱33.00 ₱93.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00
220 221 222 23 24 25	5 17 10 2	boxes units packs pieces pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00
22 22 23 24 25 26	5 17 10 2 5	boxes units packs pieces pieces kilograms	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱264.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00
22 22 23 24 25 26 27	5 17 10 2 5 45	boxes units packs pieces pieces kilograms pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱264.00 ₱1.50	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00
220 221 222 23 24 25 26 27 28	5 17 10 2 5 45 50 1	boxes units packs pieces pieces kilograms pieces dozens	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱264.00 ₱1.50	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00
320 321 322 323 324 325 326 327 328 329	5 17 10 2 5 45 50 1 8,495	boxes units packs pieces pieces kilograms pieces dozens pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors Sacks	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱1.50 ₱165.00 ₱13.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00 ₱165.00
320 321 322 323 324 325 326 327 328 329 330	5 17 10 2 5 45 50 1 8,495 500	boxes units packs pieces pieces kilograms pieces dozens pieces pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors Sacks Sacks	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱264.00 ₱1.50 ₱165.00 ₱13.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00 ₱165.00 ₱110,435.00
320 321 322 323 324 325 326 327 328 329 330 331	5 17 10 2 5 45 50 1 8,495 500 3	boxes units packs pieces pieces kilograms pieces dozens pieces pieces pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors Sacks Sacks Saki (pangdakot sa palay)	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱38.00 ₱38.00 ₱1.50 ₱165.00 ₱13.00 ₱15.84 ₱528.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00 ₱165.00 ₱110,435.00 ₱7,920.00 ₱1,584.00
320 321 322 323 323 324 325 326 326 227 228 330 331 332	5 17 10 2 5 45 50 1 8,495 500 3 10	boxes units packs pieces pieces kilograms pieces dozens pieces pieces pieces pieces pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors Sacks Sacks Saki (pangdakot sa palay) SAKI SMALL	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱93.00 ₱38.00 ₱264.00 ₱1.50 ₱165.00 ₱13.00 ₱15.84 ₱528.00 ₱660.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00 ₱165.00 ₱110,435.00 ₱7,920.00 ₱1,584.00 ₱6,600.00
320 321 322 323 324 325 326 327 328 329 330 331 332 333 34	5 17 10 2 5 45 50 1 8,495 500 3	boxes units packs pieces pieces kilograms pieces dozens pieces pieces pieces	Rice Flour Rice Scoop (Saki) Roll bag Roll Plastic (20x30) (16x24) Round water dipper Rubber Band Rubber bond Rugged Zipper different colors Sacks Sacks Saki (pangdakot sa palay)	₱990.00 ₱924.00 ₱33.00 ₱93.00 ₱38.00 ₱38.00 ₱1.50 ₱165.00 ₱13.00 ₱15.84 ₱528.00	₱4,950.00 ₱4,620.00 ₱561.00 ₱930.00 ₱186.00 ₱190.00 ₱11,880.00 ₱75.00 ₱165.00 ₱10,435.00 ₱7,920.00 ₱1,584.00

i

336	212	packs	Sando Bag (medium)	₱375.00	₱79,500.00
337	1	packs	Sando bag (medium)	₱375.00	₱375.00
338	37	packs	Sando Bag (small)	₱225.00	₱8,325.00
339	1	packs	Sando bag (Small)	₱225.00	₱225.00
340	7	packs	Sando Bag (Shan)	₱450.00	₱3,150.00
340 341	1	pieces	SATIN TELA (1 ROLL)-RED	₱7,920.00	₱7,920.00
341 342	20	pieces	Scissors	₱60.00	₱1,200.00
342 343	47	pieces	Scissors Heavy Duty	₱86.00	₱4,042.00
344	30	pieces	Scotch tape	₱38.00	₱1,140.00
344 345		bundes	Scrap fabrics for doormat	₱383.00	₱11,490.00
345 346	30 12	pieces	Scrub sponge 100mm*75mm*30mm	₱52.00	₱624.00
347	30	pieces	Seat Cover	₱132.00	₱3,960.00
348	10	pieces	Sewing Machine Needle No.11	₱20.00	₱200.00
	 	 		₱20.00	₱200.00
349	10	packs	Sewing Machine Needle No.14	₱20.00	₱200.00 ₱200.00
350	10	packs	Sewing Machine Needle No.16		
351	10	packs	Sewing Machine Needle No.18	₱20.00	₱200.00
352	10	packs	Sewing Machine Needle No.21	₱20.00	₱200.00
353	3	sets	Sewing Needle	₱127.50	₱382.50
354	2	packs	Sewing Needle 11	₱150.00	₱300.00
355	2	packs	Sewing Needle 14	₱150.00	₱300.00
356	2	packs	Sewing Needle 18	₱150.00	₱300.00
357	5	pieces	Sewing Tape Measure	₱13.00	₱65.00
358	2	bales	SHORT PANTS (ukay)	₱7,125.00	₱14,250.00
359	16	pieces	Silk screen mesh	₱390.00	₱6,240.00
360	5	pieces	Silk screen with frame	₱251.00	₱1,255.00
361	240	kilograms	Single Use plastics	₱198.00	₱47,520.00
362	30	pieces	Slicer	₱66.00	₱1,980.00
363	50	bundes	Small Nito	₱33.00	₱1,650.00
364	3	yards	Soft polyester	₱90.00	₱270.00
365	4	sets	Square Plastic Table with 4 pcs chair	₱3,150.00	₱12,600.00
366	10	pieces	Squeegee	₱99.00	₱990.00
367	4	pieces	Squeegee for silk screen 60/70/75 12"	₱125.00	₱500.00
368	5	pieces	Stainless Steel Dressmaker's Shears Clothing Scissors 9-Inch1012Inch Line Cutting Cloth	₱330.00	₱1,650.00
369	12	boxes	Staple wire 26/6	₱46.00	₱552.00
370	5	pieces	Stapler and staple wire	₱515.00	₱2,575.00
71	100	bundles	Stick	₱30.00	₱3,000.00
72	4,000	pieces	Sticker	₱5.00	₱20,000.00
73	50	packs	Sticker Paper	₱52.00	₱2,600.00
74	15	pieces	Storage box	₱647.00	₱9,705.00
75	4	pieces	Storage box 9804 small	₱330.00	₱1,320.00
76	1	pieces	Storage box big	₱1,903.50	₱1,903.50
77	4	pieces	storage box big 2-1500	₱1,584.00	₱6,336.00
78	1	sets	Storage Rack - H 6 ft x L 4 ft x W 16" - 5L	₱5,250.00	₱5,250.00
79	6	pieces	STORE CHAIR	₱554.00	₱3,324.00
80	50	pieces	Strainer	₱225.00	₱3,324.00 ₱11,250.00
81	5	pieces	Strainer Bowl	₱264.00	₱1,320.00
82	4	pieces	Strainer with handle	₱6,600.00	₱26,400.00
83	10	pieces	Strainer with wood handle	₱264.00	₱2,640.00 ₱2,640.00
84	10	packs	Straw	₱204.00	
85	10	pieces	STYRO (LARGE)		₱225.00
86	5	pieces	Styro Box (big)	₱198.00	₱1,980.00
87	10			₱990.00	₱4,950.00
	CHARLES TO THE PARTY OF	pieces	Styro box 40kg capacity	₱515.00	₱ 5,150.00
388	200	pieces	Styro Foam	₱99.00	₱19,800.00°

389	5	bales	Styro lunch box	₱26.00	₱130.00
390	300	pieces	Styro Plate with Plastic Wrap	₱2.64	₱792.00
391	1,000	packs	STYRO PLATES	₱1.32	₱1,320.00
392	12	bales	Styrofoam	₱490.91	₱5,890.92
393	4	sets	Sublimation Ink	₱2,640.00	₱10,560.00
394	40	packs	Sublimation Paper	₱396.00	₱ 15,840.00
395	60	pieces	Sublimation Shirt	₱330.00	₱19,800.00
396	20	pairs	Suit Scrub Uniform	₱525.00	₱10,500.00
397	5	pieces	Surgical forceps	₱800.00	₱4,000.00
398	5	pieces	Suyod/Paragus	₱3,960.00	₱19,800.00
399	2	pieces	syringe	₱66.00	₱132.00
400	19	units	Table	₱5,148.00	₱97,812.00
401	1	pieces	Table (Drying Table)	₱7,920.00	₱7,920.00
402	3	units	Table (Office Table)	₱5,148.00	₱15,444.00
403	7	pieces	Table (Printing Table)	₱1,980.00	₱13,860.00
404	6	pieces	Table with Drawers	₱3,828.00	₱22,968.00
405	4	pieces	Table, Long	₱4,620.00	₱18,480.00
406	5	sets	Table, Monoblock Table 4x4	₱1,254.00	₱6,270.00
407	3	pieces	Table, Rectangular	₱4,224.00	₱12,672.00
408	3	pieces	Table, Round	₱3,960.00	₱11,880.00
409	8	pieces	Table, Stainless	₱5,940.00	₱47,520.00
410	10	pieces	Table, White, 30 x 48	₱1,584.00	₱15,840.00
411	1	pieces	Table, Wooden	₱26,400.00	₱26,400.00
412	21	pieces	Table, Wooden 100cm X 80cm	₱3,828.00	₱80,388.00
413	1	pieces	Table, Wooden 2x1meters	₱7,920.00	₱7,920.00
414	2	units	Table, Wooden with drawers	₱9,095.00	₱18,190.00
415	2	pieces	Table, Wooden, Long	₱13,200.00	₱26,400.00
416	6	pieces	Tables	₱828.96	₱4,973.76
417	11	pieces	Tabo	₱66.00	
418	1	sets	taho container	₱2,998.50	₱726.00
419	1	box	Tailors chalk red	₱450.00	₱2,998.50
120	15	pieces	Tamblers (Big)	₱198.00	₱450.00
421	3	pieces	Tape Measure		₱2,970.00
122	2	pieces	Tarpauline Media 5ft	₱13.00	₱39.00
123	10	pieces	Teflon Pipe Seal Tape 1"x10m	₱1,980.00	₱3,960.00
24	1	pieces	TELA (GEENA SILK)- YELLOW 1 ROLL	₱70.00	₱700.00
125	1			₱7,920.00	₱7,920.00
126	1	pieces	TELA (GEENA SILK)-AGUA BLUE 1 ROLL	₱7,920.00	₱7,920.00
27	1	***************************************	TELA (GEENA SILK)-BLUE 1ROLL	₱7,920.00	₱7,920.00
28	1	pieces	TELA (GEENA SILK)-GOLD 1 ROLL	₱7,920.00	₱7 <i>,</i> 920.00
29		pieces	TELA (GEENA SILK)-GRAY 1 ROLL	₱7,920.00	₱7,920.00
	1	pieces	TELA (GEENA SILK)-GREEN 1 ROLL	₱7,920.00	₱7,920.00
30	1	pieces	TELA (GEENA SILK)-ORANGE 1 ROLL	₱7,920.00	₱7,920.00
31	1	pieces	TELA (GEENA SILK)-PINK 1 ROLL	₱7,920.00	₱7,920.00
32	1	pieces	TELA (GEENA SILK)-RED 1 ROLL	₱7,920.00	₱7,920.00
33	1	pieces	TELA (GEENA SILK)-WHITE 2 ROLLS	₱7,920.00	₱7,920.00
34	33	sets	Thread	₱624.50	₱20,608.50
35	1	packs	Thread	₱99.00	₱99.00
36	30	boxes	Thumbtacks	₱20.00	₱600.00
37	4	box	Tissue	₱1,087.50	₱4,350.00
38	6	packs	TISSUE TABLE NAPKIN	₱56.00	₱336.00
39	20	pieces	Tooth brush	₱25.00	₱500.00
40	3	pieces	Towel (white) small	₱33.00	₱99.00
41	5	pieces	Towel big	₱300.00	₱1,500.00

442			Towalerall	₱150.00	₱750.00
442	5	pieces	Towel small		₱1,584.00
443	8	pieces	Tray 12x8	₱198.00	
444	6	pieces	Tray stainless	₱396.00	₱2,376.00
445	275	pieces	Trays	₱158.00	₱43,450.00
446	1	bales	TSHIRT RED (SMALL, medium, large)	₱1,584.00	₱1,584.00
447	1	bales	TSHIRT WHITE (SMALL, medium, large)	₱1,584.00	₱1,584.00
448	5	pieces	Tumbler (25 gallon)	₱330.00	₱1,650.00
449	5	rolls	UV FILM PLASTIC	₱2,508.00	₱12,540.00
450	30	packs	Vacuum Sealer plastic 10x13" (100pcs/pack)	₱726.00	₱21,780.00
451	1	bales	WAKA-WAKA (ukay)	₱6,000.00	₱6,000.00
452	50	sets	WHITE LEAF	₱80.00	₽ 4,000.00
453	10.	stacks	WHITE ROSES	₱99.00	₱990.00
454	6	pieces	White Towel big	₱300.00	₱1,800.00
455	6	pieces	White Towel small	₱150.00	₱900.00
456	65	pieces	White T-Shrit Large	₱158.00	₱10,270.00
457	45	pieces	White T-Shrit Medium	₱158.00	₱7,110.00
458	40	pieces	White T-Shrit Small	₱158.00	₱6,320.00
459	6	pieces	Wide Big Umbrella with adjustable extension handle 40"	₱637.50	₱3,825.00
460	10	pieces	Winnowing basket	₱396.00	₱3,960.00
461	5	sets	WISTERIA	₱158.00	₱790.00
462	1	pieces	Wood Power Planer	₱3,960.00	₱3,960.00
463	2	pieces	Wooden box	₱2,640.00	₱5,280.00
464	3	units	Wooden Rice box (3 divisions)	₱ 4,400.00	₱13,200.00
465	500	yadrs	Wool Fabric	₱86.00	₱43,000.00
466	3	pieces	Zigzag Meter	₱264.00	₱792.00
467	10	packs	Ziplock	₱462.00	₱4,620.00
468	5	packs	Ziplock (big)	₱858.00	₱4,290.00
469	5	packs	Ziplock (medium)	₱462.00	₱2,310.00
470	5	packs	Ziplock (small)	₱198.00	₱990.00
471	10	pieces	Zipper	₱4.00	₱40.00
			x-x-x-nothing follows-x-x-x-x		
	Total Bid	Price			₱5,182,955.93

You are therefore required within ten (10) days from the receipt hereof to formally enter into contract with us, and to submit the Performance Security in the form and the amount stipulated in the instruction to Bidders. Failure to comply therewith shall constitute a sufficient ground for cancellation of this award and forfeiture of your Bid Security.

Very truly yours,

RODOLFO T. ALBANO III

Provincial Governor

Received by:

DATE:

5/26/2022